RONIX POWER TOOLS

Premium Quality

2830

www.ronixtools.com Demolition Hammer 2200W



RONIX POWER TOOLS

Premium Quality

Number | Name Number | Name Number | Name
1 Housing Ass’y 49 Hex. Socket Bolt 108 Oil Bottle
2 Tail Cover M10x1.25x35 109 Fan Guide
3 Hex. Socket Bolt 50 Crank Washer 110 Hex.Socket Bolt M5x12
M10x35 51 Needle Bearing NK2220 (12.9)
4 ® 10 Flat Washer 52 Connecting Rod Ass'y
5 Brush Cap 53 Piston Pin
6 Carbon Brush 220-240V 54 L- Ring®56.6x ©44.5x7.8
7 Brush Holder 55 Piston
8 Insulate Washer 56 Fluorin O
9 Cap Rubber Ring®46x ®5.3
10 Fan Cover 57 Cylinder
1 ®6xP10.5 Flat Washer 58 O Ring®82x®2
12 Hex. Socket Bolt M6x20 59 Hex. Socket Bolt
13 ® 32 Urethane Washer M1 0><.45
14 Ball Bearing 6201 RS 60 Aluminum Head
15 Stator Ass'y 61 M.outh Washer .
17 Electricity Feels 0.18uyH 62 Big Urethane Ring
18 |Stator 220-240V 63 [Mouth _
20 Tapping Screw ST4.8x85 65 locking Ring -
21 Armature 220V-240V 66 | Small Urethane Ring
22 Inner Cover 67 S.hank Sle'eve
22A | ORing®143x®2 68 Airproof Ring
23 Hex.Socket Bolt M10x30 | |02 O Ring ®75x©3.6
24 Ball Bearing 6203 RS 70 Impact Hammer
25 ®5x 162 Flat Washer & E'i‘ﬁf;ré? 5?_»( ©5.3
26 '\S"fr’;vg Embedding 72 O Ring®90x ®2
57 Needle Bearing BK1312 73 Hex..Socket Bolt M14x40
28 Counter Gear 4 Locking Lever
29 Bearing Cover 75 Front Cov.er
30 Gear Cover 76 Lev¢.ar Spring
31 Side Handle L4 Spring Cover
31A Side Handle Steel /8 Clamp Ring
Bushing 79 Spring set
34 Hex. Socket Bolt M8x30 80 Main Handle Cover
35 Hex. Socket Bolt 81 Trigger spring
M10x55 82 Switch Trigger
36 Ball Bearing 6204 RS 86 Main Handle
37 Big Gear Partition 88 Wire Cover
Washer 89 Tapping Screw ST4.2x18
38 Final Gear 90 Hex. Socket Bolt M6x15
39 Distance Ring 91 ®6x D 18 Flat Washer
40 Pin®8x14 92 Handle Support
41 Ball Bearing 6305 RS 93 ®6 Spring Washer
43 Bearing Cover 94 Electric Capacity 0.33 u F
44 Palt Key 4x18 95 Rivet
45 Crank Shaft 96 Switch
46 Crank Shaft Ring 97 Cord Clip
47 FI_uorin (@) 98 Spring Pole
R{ng®33.2x®2 99 Cord Armor
48 Oil Tank Cover 100 Cordx5m

www.ronixtools.com



